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program Kesem;

uses crt;

Const N = 64;

var
num:integer;

guess_num:integer;

procedure Instructions;
{2879 prwnt NMIRTT NS }
begin
clrscr;
gotoxy(20,10); writeln(‘Select a number between 1-',N);
gotoxy(20,12); writeln('Look at these tables and search the number on the table");
gotoxy(20,14); writeln('Every table you will answer y/n *);
gotoxy(20,16); writeln('Press any key to start....");
readkey ;
end;

procedure print_table(step:integer);
{ 25w apm Rw — step "oon nhapnn avws )
{  step 2 o°Xnnn09onT MY DR VO ANYM )
var
I,num:integer;
begin
clrscr;
gotoxy(1,10);
num:=step;
while num < N do
begin
for i:=1 to step do
begin
write(num:10);
num:=num-+1;
end;
num:=num-+step;
end;
end;



function check_answer : boolean;
{ N/n Mayapwn Y/y My nak 070mmm wnnwnn D Inwn X DR aws |
var ans:char;
begin
gotoxy(10,22);
write('ls your number in this table ? (y/n)");
ans:=readkey;
while not (ans in ['y','n","Y",'N']) do
begin
gotoxy(10,22);
write('ls your number in this table ? type just [y/n]");
ans:=readkey;
end,
check_answer:=ans in['y","Y'];
end;

Begin {main }
instructions;
num:=1,;
guess_num:=0;
while num <N do
begin
print_table(num);
If check_answer=true then guess_num:=guess_num-+num;

num:=num*2;
end;
if guess_num=0 then guess_num:=64;
clrscr;

gotoxy(20,20); writeln("Your number was.......",guess_num);
gotoxy(20,22); writeln('Press any key to continue....");
readkey;

end.
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program kesem;
uses crt;
const first=1; last=32; last2=16;
type
array_typel=array[first..last] of integer ;
array_type2=array[first..last2] of integer ;
var
X, 1,J,r,c:integer;
a:array_typel,;
t1,t2,t4,18,t16:array_type2 ;
ans:char;
guess_num ,num:integer;

procedure init_array( var a:array_typel);

{ wRIMY - MM RYY 48..120 01N 0»RIPR 0°1901 Hw 32 T2 7vn anan awe )
var
b:array[48..120] of boolean;
i;integer;

begin
for i:=48 to 120 do bJ[i]:=false;
for i:=first to last do
begin
repeat
x:=random(73)+48;
until b[x]=false;
b[x]:= true; a[i]:=x;
end;
end;

procedure print_table( a:array_typel);
{ , WRAM? L, (48..120) 0»RIPR 02900 Hw 32 DT TR a : notd nww |}
{ »POR *5% 17 DIRNMIT INT A 1DON DIPRA, 4¥8 SW ORIV 711212 DHT TIVAT 1 AROY NI }
var
i,r,c:integer;
begin
Writeln; i:=1;
forr:=1to 4 do
begin
forc:=1t0 8 do
begin
write(char(a[i]):5);
inc(i);
end;
writeln; writeln;
end;
end;



procedure build_tabels (a:array_typel;var t1,t2,t4,t8,t16:array_type2);
{ SWRIT MO IR AXONT A 7N DR N7apna awe )

(a7 aMTPY TR ompeah RN — 2007 - 200N 5 PIRA A1 )

var
1,11,i2,i4,18,i16:integer;
X,num:integer;
begin
11:=0; i12:=0; i4:=0; i8:=0; i116:=0;

fori:=1to31do

begin
num:=i; Xx:=16;
repeat
if num >= x then
begin
case x of
16: begin
inc(il16); t16[il16]:=ali];
end;
8 : begin
inc(i8); t8[i8]:=a[i];
end;
4 : begin
inc(i4); t4[i4]:=a[i];
end;
2 : begin
inc(i2); t2[i2]:=a[i];
end;
1 : begin
inc(il); ta[i1]:=a[i];
end;
end;
num:=num-x;
end;
xX:=x div 2;
until num=0;
end;

end;



procedure print_array(a:array_type2);

var
i;integer;
begin

fori:=1to 16 do
write(char(a[i]):5);
writeln;writeln;
end;

Begin { main}
clrscr;
randomize;
init_array(a);
writeln('look at this table and chose one sign':50);
print_table(a);
build_tabels(a,t1,t2,t4,t8,t16);
delay(4000);
guess_num:=0; num:=1;
fori:=1to5do
begin
writeln;
writeln (" is your choice in this line ?":50);
writeln;
case i of
. print_array(tl);
. print_array(t2);
. print_array(t4);
: print_array(t8);
. print_array(t16);

O~ wdN PR

end ;
repeat
readIn(ans);
until ans in['y','n';
if ans="y' then guess_num:=guess_num-+num;
num:=num>*2;
end,
if guess_num=0 then guess_num:=32; nmim>2 ¥°512 ROW TN NINRT 12982 7700 219°0 )
write( 'you chose this sign ":30) ;
writeln (char(a[guess_num])));
readln;

end.
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